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RESEARCH AND TERTIARY EDUCATION

TOPIC: ATAR scores
REFERENCE: Question on Notice (Hansard, 17 October 2012, page 89)

QUESTION No.: SI-42

Senator MASON: What proportion of students get an ATAR of 80 or above?

Mr de Carvalho: Students who are enrolled, because clearly 20 per cent of students get an ATAR—
Senator Chris Evans: That is exactly the point. Senator, in a sense, it is a mistake in the way you
approach the question. I am not trying to correct you, but ATAR is not a score.

Senator MASON: [ understand what you are saying.

Senator Chris Evans: Therefore, if you have more people entering university, the average ATAR of
those entering should be lower.

Senator MASON: Because it means you are dipping further down.

Senator Chris Evans: Yes, but it is not a mark; it is a percentage of the total taking the examination.
Senator MASON: It is a list; [ understand.

Senator Chris Evans: People get fixated on 50, as though it were a pass mark when, in fact, it is a
proportion. I am sure the average ATAR in 1901 would have been 99—and with no women. Now it
will be whatever it is, but that reflects the greater access to university education.

Senator MASON: This is an important question. What is the correlation between low ATAR scores
and low SES status or being a rural or Indigenous student?

Mr de Carvalho: There is a correlation. We can get you some figures on that, if you like.

Senator MASON: Could you do that?

Mr de Carvalho: It is not necessarily a predictor of academic success. So if you come from—
Senator MASON: I accept that.

Mr de Carvalho: If you come from a disadvantaged background or a regional area, for example, that
is not necessarily an indicator of your ability to achieve.

Mr Griew: It is also an incredibly complicated issue because of attempts to scale the ranking across
different schools and different socio-economic and geographical areas. You would really want to
get an expert piece of input on that from the school education people.

ANSWER

The relationships between ATAR and socioeconomic status (SES), region and Indigenous status
can be seen in the cross-classification of Year 12 offers by these variables:

SES



Out of all offers made to Year 12 applicants from low SES backgrounds in 2012, 6.4 per cent were
for those with ATAR of 50 or less. This compares with 3.5 per cent for medium SES applicants
and 0.9 per cent for high SES applicants.

By contrast, 16.7 per cent of offers made to Year 12 low SES applicants were for those with ATAR
90 or above, compared with 23.1 per cent for medium SES applicants and 41.1 per cent for high
SES applicants (see Table 1).

Region

Out of all offers made to Year 12 applicants from non-metropolitan areas in 2012, 6.5 per cent were
for those with ATAR of 50 or less. This compares with 2.2 per cent for metropolitan applicants,

By contrast, 19.8 per cent of offers made to Year 12 non-metropolitan applicants were for those
with ATAR of 90 or above, compared with 30.5 per cent for metropolitan applicants (see Table 2).

Indigenous status

Out of all offers made to Year 12 Indigenous applicants in 2012, 14.6 per cent were for those with
ATAR of 50 or less compared with 3.1 per cent for non-Indigenous applicants.

By contrast, 8.8 per cent of offers made to Year 12 Indigenous applicants were for those with
ATAR 90 or above, compared with 28.0 per cent for non-Indigenous applicants (see Table 3).
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